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Do you find yourself sitting behind your desk all day long? Do you always feel
tired? You may be suffering from “I'm too busy to exercise” syndrome, which is
very common among high school students. According to one survey, over 60% of
Korean teens aged 15 to 19 said they didn't exercise at all while only 5.9%
managed to exercise five days a week. This guide will help teens like you learn
how to squeeze time to exercise into your hectic* day. After all, exercising is not

a(n) . it's a must!

* hecticc &3¢, O HRE

20| BHOR 1Y MR A7
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To
To
To
To
To

warn against exercise-related stress

offer students fitness classes

remind students of the importance of exercise
offer students a healthy schoolwork

introduce a squeezing exercise for students
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In the developing world, women typically spend 8 hours each week washing
their family’s clothing by hands in open streams or lakes. Powered washing
machines exist, but they are ___ in many rural areas because electricity
is unavailable or too expensive. The Bicilavadora is a low-cost, pedal-powered
washing machine. [t does not use any electricity and is easy to operate - just like
riding a bike! Its innovation is its simple design and its use of inexpensive plastic
or metal barrels and bicycle parts that are readily available locally. It can be
produced and maintained within the community instead of relying on imported

parts.

Difficult livelihood of women in the developing world
Importance of electricity in everyday life

Importance of riding bicycles in rural areas

Benefits of a pedal-powered machine in the developing world
Stress reliever for women in the developing world
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@ unsuitable
@ unfit

® impractical
@ useless

® efficient
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Do you have a favorite food that comes from another country? Maybe you like
spaghetti or tacos. How about food from Greece? Have you ever had Greek food?
Here is a story about Jiyoon’s family who fell in love with Greek @ cuisine.

Jiyoon’s family took a trip to Greece last summer and had a chance to
experience one of the most famous Greek dishes, moussaka,* at a well-known @
restaurant in Athens.x* They all loved the dish. After returning from the trip,
none of the family could forget the unique, delicious taste of moussaka. They
really missed it. So, Jiyoon’s father found the recipe on the Internet. Since then,
he has cooked it almost every weekend for his family. What a great father he is!

Jiyoon’s family likes vegetable moussaka, which is a(n) @ essence of the
traditional, meat-based Greek dish. It contains no beef, but a(n) @ variety of
vegetables including tomatoes, zucchini, eggplant, onions, and potatoes. It's a(n) ®
colorful food, almost like eating a rainbow!

Have you ever eaten moussaka? If not, how about cooking moussaka this
weekend for your family?

* moussaka: J2|A 22] 0|F  *x Athens: OtH|U|

®
@
®
@
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Can a single picture or a simple phrase move people’s hearts? Is it possible for
one advertisement to change the world for the better? The answer is “yes.” There
is a special type of advertisement called public service advertisement (PSA).
Through creative advertisement, PSA creators draw people’s attention, raise their
awareness of social issues, move their hearts, and make them act. They are
bringing a breath of fresh air to social campaigns.

One example of PSAs is an advertising designers anti-war poster. Instead of
putting posters on the wall as we usually do, he wrapped his posters around
poles. At the bottom of the poster was written “What goes around comes
around.” This poster shows that the bullets we fire will be directed back toward
us in the end. The idea is simple, but the message is powerful.

7. 29| PSAO| oigt L} YRSt A2?

A

rir

PSA is focused on making maximum profits.

PSA uses creative ideas to find ways to change people’s minds.
It is impossible for PSA to create a sensation without posters.
The strategy of PSA is to make people rich.

PSA is not interested in making the world a better place.

©® 000

®

SlZ0| WEO| LIE 29172 7H HEE A27?

calm and relaxing
optimistic and encouraging
romantic and fantastic
gloomy and pessimistic

©®e 00

exciting and nervous

[9-10] &t8 22 81 =30 EotAl=.

Black pepper is one of the most widely used spices in the world. At first, it was
cultivated in India as a simple ingredient for cooking. However, it became a lot
more important to some Europeans who also used it for keeping meat from (A)
going bad / going badly. Until the 15th century, some cities in ltaly were the

center for trading black pepper. As the Ottoman Empire in the Middle East grew
stronger in the 16th century, however, it forced the European traders to pay them
a high tax. This made black pepper (B) as / so expensive that only a few rich
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people could afford it. In some parts of Europe, black pepper was even considered
as valuable as gold. The great demand for black pepper caused Europeans to
search for new sea routes to India. It was during this time that Europeans first
visited America. It is said that Christopher Columbus, who discovered America,
thought it was India until he died. Europeans might have never found the New
World if it (C) has / had not been for black pepper.

9. H=29 2A|2 Y Hdst A2?

—

@ Black pepper has had a great influence on American culture.
@ Black pepper is the most valuable ingredient in the world.
@ Europeans thought of black pepper as precious as Indians did.
@ Black pepper is a commodity that has greatly influenced human history.
® Historic importance of black pepper comes from its origin.
10. =229 (A), (B), (Oo E0{Z LU= T2 AR A=2?
(A) (B) (@)
® going bad as e had
® going bad SO e had
® going bad SO e has
@ going badly SO e has
® going badly as e has

[11-12] &t8 28 81 =30 EstAl=.

The Red Ocean has hundreds of fishermen all fishing for the same fish. On the
other hand, you are the only fisherman in an ocean full of fish in the Blue Ocean.
The Red Ocean market emphasizes competing with other enterprises and using
already existing ideas or products. Often in this type of market, profits shrink due
to declining market shares as a result of price reductions. However, a Blue Ocean
pursues creating new demand in an uncontested* market. A Blue Ocean offers
the opportunity for profitable and rapid growth to an entirely new market.

A good example of a Blue Ocean is Cirque du Soleil - Circus of the Sun.
Performances by Cirque du Soleil earn a million dollars a night. They entered the
circus business when it was a failing industry. They eliminated animals from the
show. Instead they added more artistic sophistication and targeted customers who
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are willing to pay for expensive tickets for theater. They experienced rapid growth
and profit because they tapped into a Blue Ocean customer base in an existing
Red Ocean.

rir

* uncontested: 2AHe|, AE 40| gl

1. 29 A= 290?
To compare characteristics of the Red Ocean and the Blue Ocean
To introduce Cirque du Soleil, the famous circus business

To convince readers to invest in the Blue Ocean

To persuade that the Red Ocean is better than the Blue Ocean
To show that there is no competition in the Red Ocean

©®e 00

. H=0| Blue Ocean0f tist £40| Ot 227
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N

People willingly pay high cost for the products that they want.

The Blue Ocean provides new opportunities because it is an uncontested market.
A new Blue Ocean can be discovered within an existing Red Ocean.

A new idea is introduced to create new demand in the Blue Ocean.

Many people fish for the same ideas and products in the Blue Ocean.

©@® 000
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By and large, extroverts like breadth — knowing lots of friends and experiences,
knowing a little bit about everything, and being a generalist. One of your
extroverted friends might tell you, “I love to flit*x around a party and just catch
the highlights from each conversations.” For extroverts, life is about collecting
experiences. They can graze at the banquet** fill up on all sorts of treats, and
leave when they are full to bursting. They want to wring every drop of stimulation
they can from life. Variety is stimulating and energizing to them.

Introverts, like depth. They often have fewer friends but more
intimate with them. They like to delve*** deeply into topics and look for
“richness” more than “muchness.” Their mind absorbs information from the outside
environment and then reflects on it. Long after they have taken in the
information, they are still munching and crunching it a little like cows chewing
their cud.***x This is also why introverts resent being interrupted. It's difficult for
them to pull themselves up and out of their deep well of concentration.
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@ in addition

@ all the more

® after all

@ what is worse

® on the other hand

[
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Now that winter break is ending, it is time to think about the coming spring
semester. 'm looking forward to (A) meet / meeting new friends and teachers in
a new environment. This time around | also want to be a better student and
friend. ( @ ) Before that can happen, I'll need to change a few things.

Thinking of bad habits and setting goals give me something to work towards.
First, | make a list of bad habits that | want to quit to help me become a better
student. After identifying problematic things | do, | try to find ways to stop them.
( @ ) Every semester, | try to focus on one or two bad habits to break. ( @ ) |
also create a list of goals that | try to accomplish each semester. Having a few
goals is always a good way to make me more (B) motivating / motivated.

So here are my lists. I'll post updates now and then, so everyone can see how
I'm doing. | hope with your love and support (C) what / that I'll do away with my
bad habits and achieve my goals this semester. ( @ ) I'll make a strong effort

though, to quit bad habits, and also to accomplish the goals | set. Now that |
have made lists of all of my bad habits, as well as my goals for the semester, |
hope you'll do the same. ( ® ) Believe me, it really will pay off.
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15. 22| (A), (B), (O S0{Z& LS U= 207 H2?
(A) (B) (@)
@ meet e motivating =~ - what
@ meet e motivating that
® meet e motivated - that
@ meeting e motivated =~ - that
® meeting e motivated @~ - what
16. 29| S22 Hol, O 20| S0{7t7|0f| 7+ AAst

<Of course, it will be really hard to stick to my goals.>

©@®e 0 0

[17-19] TS =22 EotA| 2.

We all love using search engines to learn things. Search engines check the entire
Internet to find sites that are related to the words you enter into them. But when
you use a search engine, not only does your computer use energy, but also the
site links up to thousands of other websites and their servers also use energy to
come up with all the results you see.

At this moment, countless desktops, smartphones, and laptops are being used to
find answers to ____ the silliest questions. But most of us don’t know that the
simple act of searching for a word like “pizza” can cause harm. With every search,
you send information to (A) hundred / hundreds of machines, thousands of miles
being used at the same time consume a lot of energy.

away. So, many machines
This can be harmful to our environment.

When you do a search for “pizza,” you get hits (B) so / such as suggested
restaurants, maps showing pizza places, restaurant reviews and _ recipes.
Every search requires many machines to process huge amounts of information in
less than a second. Think of all the people doing similar searches at the same
second. That is an incredible number of searches. In December 2009 alone, Web
users around the world (C) conducted / have conducted an estimated 131 billion

searches. Think of all the power required to display results for all those searches.
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search engines and the Internet

use of the latest technology

effectiveness of search engines

best way to find information on pizza

energy consumption while searching the Internet
=9 (A), (B), (O0 =0{& YE2 =2 AR|02 A2?
(A) (B) (©

hundred - SO e conducted
hundred - so e have conducted
hundreds - such - conducted
hundreds - so e conducted
hundreds - such - have conducted
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also

even

still

more

further
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Surrealism was started in France in the first half of the twentieth century. “Sur’
means “over or beyond” in French, so surrealism means “beyond reality.” Like its
name, surrealist artists tried to present ideas taken (A) ______ their dreams and
imaginations, instead of simply painting images from the real world. René
Magritte was one of the most famous and influential artists of this movement
and inspired the works of many other artists.

Magritte challenged our tendency to accept our everyday experiences (B)
true and clear. He thought the relationships between images and objects aren’t
as strong as people may think. Through his works of art and these kinds of
ideas behind them, René Magritte had a great influence not only on the art of
other artists, but also on graphic design, movies, and even TV commercials. He
challenged the common views of what’s real and unreal by presenting regular
things (C) ___ an unusual way. He wanted people to question what they see
and think about art and the world around them from different points of view.
Therefore, there is no single correct way to (D) __ his paintings. It's up to
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you to decide what you see.

20. 939 HBOR I ;s %7

@® Magritte and His Surrealist Paintings

@ A Conventional Way of Seeing

® How to lllustrate Dreams and Imagination

@ A New Way of Promoting Art

® Marketing Art on TV
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Many significant changes were triggered by the arrival of Christopher Columbus in
the Americas in 1492. After this, of food, plants, animals, and even
diseases occurred at a global level. This brought together the Old World (Europe,
Africa, and Asia) and the New World (North and South Americas), affecting nearly
all the peoples of the world in one way or another. People were and are still under
the influence of this phenomenon called the Columbian Exchange.

The Columbian Exchange was most evident in the _ of agricultural crops
between the two worlds. Potatoes, corn, tomatoes, cacao, and other crops were
carried from the New World to the Old. Sugar, coffee, soybeans, oranges, bananas,
and other crops traveled in the opposite direction. This exchange of food crops
resulted in far-reaching consequences in both worlds. In the Americas, for instance,
the introduction of crops from Europe led to riches for some farmers. They could
produce the crops on a large scale and make a large profit. The Americas quickly
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became the major supplier of European crops. For many others, however, the
_______ meant slavery. Many slaves had to work on the plantations owned by the
rich.

In Europe, the nutritious food crops from the Americas stimulated a population
explosion. Around 1492, Europe’s population stood at about 60 million. By 1800,
however, it had increased sharply to 150 million. The new crops grown on the

continent could feed a greater population.

23. /29| FAH=Z It Hdot A=2?
@ various causes of the Columbian Exchange

@® arrival of Christopher Columbus in the New World

®@ history of agriculture in the New World and the Old World
@ impact of the Columbian Exchange around the world

® strengthening of dynamics of the Columbian Exchange

24, =22 Ugat LA|5tA| = A2?

@ The New World employed slave labor for farming.

® Sugar is originally a native crop of the Old World.

@ Tomatoes were introduced to Europe from the New World.

@ The Columbian Exchange caused boom in European population.

® Some farmers in the Old World became wealthy with large-scale production.
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LS 22 91 =30 A, (1-2)

Everybody says we should help those in need. However, as the proverb goes, (A)
. The following episode shows that it is not difficult to lend a helping
hand and make the world a better place.

Last month | was waiting for a bus on a rainy day. | saw an elderly woman get off
a bus. It seemed that she wanted to change buses. She walked slowly toward me.

After a while, | started a conversation with her. “We’re having very bad weather
today, aren’t we? But the bus will be here soon.” | asked her where she was headed. |
was surprised to hear her response. | said, “The bus that you got off goes there. Why
did you get off the bus? | mean, what made you get off before your stop?”

The lady smiled and answered, “Well, one young man with a bad limp got on the
bus, but no one wanted to give up their seat for him. They either looked down or
pretended they were dozing off. | wanted to offer my seat. If an old woman like me
had done that, however, the young man might have felt very uncomfortable. So, when
the man came close to me, | rang the bell to get off the bus. Thankfully, the young
man didn’t feel awkward when he took my seat. Another bus always comes along. We
can get the next one, can’t we?”

1. 9IZE (A0 SOZ L2 JhE HHF A7

@ it is easier said than done

@ patience is the art of hoping
@ a rolling stone gathers no moss
@ after a storm, comes a calm
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2. 120 E2{t “elderly woman’Q| Moz 7tz HAs H2?

@ easygoing @ considerate
@ introverted @ demanding

(3-4)

Many marine mammals are quite large. When an ocean-dwelling species evolves
toward a bigger size, it gains several advantages. First, it takes less energy and effort to
support a large body in the ocean (A) on land, because the pressure of the
water helps to support the body. A blue whale could never live on land, even if it had
legs — its massive body would require a skeleton so big that it would collapse under
its own weight. Second, larger animals have less surface area (skin), compared to their
overall volume (body mass), than smaller animals. A big sea-dwelling creature finds it
easier (B) __ warmth inside its body, while a small creature loses more heat into the
water through its skin.

3. 817H (A)2F (B)Ofl S0{Z YUz B2 ®|0j7 H2?

(A) (B)
@ as --- to conserve
®@ than --- to conserve
@ than --- conserve
@ as --- conserve

4. Sl29| W& Yxste A2?

@ Small sea-dwelling creatures need to be protected.

@ The marine mammal population increases because of its size.
@ Marine animals play a crucial role in marine ecosystem.

@ Marine animals benefit from their massive body.

(5-6)

Charles tried his hardest to encourage Jackson, recognizing that his brother had a
low opinion of his abilities. But Jackson resisted his help. He refused to show Charles
his paintings, and instead of hanging them up, used to turn them (A) the wall.
Equally dissatisfied with his sketches, he developed an unfortunate habit of ripping
them up. Charles would try to salvage them, collecting the scraps, placing them in a
drawer and assuring his brother that his work was worth (B) . But it was
inconceivable to Jackson that his early work might ever be of interest; he didn’t even
(C) bother to sign or date his paintings.

*salvage A|7|Ct, 2SIt
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(A) (B)
@ off --- to save
@ against --- save
@ off --- having saved
@ against --- saving

6. U2HY YE I (O) bother| £ 71 It %2

—

make an effort @ make much of
give up @ give in

(7-10)

How many times have you upgraded your computers, television sets, or mobile phones
in the last few years? Have you ever thought about where these products went after
you've used them? Any household or business item consisting of electrical components,
when not reused or recycled, is turned into e-waste. This term is used to describe many
types of electrical and electronic equipment with a battery or power supply that enter or
will enter the waste stream.

E-waste is growing simply because the markets where these products are produced and
sold are also growing rapidly. In fact, product innovations in information and
communication technologies are accelerating the increase in e-waste. Moreover, due to
economies of scale, companies have been able to produce more goods at a lower cost. As
the price of electronic items has been decreasing, the demand for (A) those products that
eventually become e-waste has been increasing. Thus, all kinds of e-waste have been
mounting up to a serious environmental problem, which still fails to attract the public
attention.

7. H29| S22 1y HAES A=2?

@ to provide a manual to keep the electronic devices up-to-date

@ to explain the meaning of e-waste and its environmental effects

@ to suggest what people can do to reduce the amounts of e-waste

@ to emphasize the importance of specific components of the electronic products.

8. E-wastelf &t =2 W8 YX|stA| Qb= A2?
@ The term refers to many types of electronic equipment that enter the waste stream.
@ Its amount has rapidly increased due to the innovations in information
technologies.
@ People pay great attention to the environmental problems caused by the e-waste.
@ If not recycled, electrical components of the business items become e-waste.

9. ¥I=20i| 0]0{& gz Ity HAst A2?
Examples of advanced communication technologies in recent years
Process of how production rates affect the price of electronic devices

®

@)

@ Reasons for why the public attention is high for the e-waste
@ Examples of environmental problems caused by the e-waste
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10. 2= 2 (A) those products?t 7t2|7|= CHAE?
@ electronic items
® kinds of e-waste
® product innovations
@ goods at a lower cost
(11-12)

There are many questions we can ask about the origin of the universe, @ not all of
which can be answered by science. Scientists can answer when and how the universe
began, but cannot calculate the reason why it began, for example. That type of
guestion must be explored through philosophy, religion, and other ways of thinking.
The questions that scientists ask must be testable. Scientists have provided answers to
testable @ questions that have helped us calculate the age of the universe: how distant
certain stars are, how fast they are receding from us. Whether or not we can get a
definitive answer, we can be confident in the process by which the explanations were
developed, ® allowed us to rely on the knowledge that is produced through the
process of science. Someday we may find evidence @ to help us understand why the
universe was created, but for the time being science will limit itself to the last 13.7 or
so billion years of phenomena to investigate.

*recede HOJZ|Ct, Se{Lict

=
@ Scientists can answer when the universe began.
@ Science can answer whatever philosophy cannot.
@ Scientists produce scientific knowledge through a certain process.
@ Testability is a feature of scientific questions.

(13-14)

Relationships would be a lot easier if people were completely honest in telling one
another how they are feeling and what they are thinking. In reality, this happens very
rarely so we are left to read between the lines, detect (A) overtones or pick up visual
cues from one another’s facial expressions or body movements. ( @ ) False reading of
other people’s emotions and the failure to detect incongruity between another person’s
emotions and his/her behavior can result in mistaken action and reaction on our part. (
@ ) For example, we may react strongly to our misinterpretations and act defensively
to perceived emotional threats that simply do not exist. ( ® ) These are sometimes
referred to as ‘false negatives. ( @ ) For example, students may react angrily and
aggressively to a peer who ‘looked at me funny’, or a teacher may feel outrage when a
student refuses to make eye contact during a reprimand.

*incongruity 2Yx|
*xreprimand 224 H|U
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13. 29 =822 Hot, of2ff 280| S07t7[0f 7+ &gt X2?

However, not everyone is aware of how to decode non-verbal communication, and
not everyone is emotionally expressive and therefore easy to ‘read’.

@ @ ® @

14, Aty 2= 2 (A) overtones®| Xit 7t 7MkE A27?

@ silences @ utterances
@ implications @ attitudes
(15-16)

Revision is one of the most important steps in ensuring your papers success.
Although unpracticed writers often think of revision @ as little more than making sure
all the i’'s are dotted and t's are crossed, it is much more than that. Revising is @
reseeing the essay, looking at it from other perspectives, trying always to align your
view with the one that will be held by your audience. Research indicates that we are
actually revising all the time, in every phase of the writing process, as we reread
phrases, rethink the placement of an item in an outline, or @ tests a new topic
sentence for a paragraph. Subjecting your entire hard-fought draft to cold, objective
scrutiny @ is one of the toughest activities to master, but it is absolutely necessary.
You have to ensure (A) you have said everything that needs to be said clearly
and logically. One confusing passage will deflect the readers attention (B)
where you want it to be.

=align ~ with ... ... of %z ~& Z2dstrt
=*xscrutiny Y ZAL S HE
*+xdeflect WLIZHA| stCt, &ekE HHRCE
15. K29 = 2 BE&E 3, oy =2l A2?
©) @) ® @
16. BIZH0| S0{Z 22 HE=2H X013l A2?
(A) (B)
@ what - to
@ that --- from
@ which -—- with
@ whether --- at

(17-19)

Nowadays, it's hard to avoid having our attention divided between many different
things. It used to be only busy adults who had to manage many things at once, such
as working, paying bills and taking care of their kids. However, teens have recently had
to get used to this kind of life as well. As their schedules fill up, they must learn to
balance school, organized activities and social (A) obligations.

In addition, new technologies, such as smartphones, force us to switch our attention
instantly to various tasks. This is much less efficient than if we were to focus all of our
attention on doing one thing. Paying full attention is particularly important when it
comes to learning. Therefore, many researchers are now turning their attention to this
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issue.

Dr. Richard Restak is one researcher who is studying the effects of doing multiple
things at once. In his book, 7he New Brain, Restak talks about various studies which
show that whenever we try to do two things at the same time, our attention is
actually directed towards one activity or the other, rather than to both at once.

In addition, we waste time shifting between tasks. Even if we only lose a second or
a minute at a time, you'd be surprised by how quickly this lost time can add up. In
fact, other researchers discovered that students sending text messages while doing their
homework ended up spending 50 percent more time than if they had done each task
separately.

17. 29| A=z 71 Adst A2?
@ Pay Attention, Work Better
@ Multitasking Is Certainly Possible
@ Larger Brains, More Work Efficiency
@ Grab People’s Attention with Technologies

18. AttentionOf st SI=2°| WE1 UX|st= HE?
@ People tend to pay full attention when they use smartphones.
@ People save time when they frequently switch their attention.
@ Attention split into different tasks results in better learning outcomes.
@ Researchers are interested in studying a relationship between attention and
learning.

19. H2td @& 21 (A) obligations®| =it 7+ 72 A=2?

@ duties @ possibilities
@ functions @ assumptions

(20-22)

Successful life begins with a growth plan to help you reach your maximum potential.
It's not only about knowing what you should do but also about growing in that area
to maximize and highlight the things you do well.

Let me tell you about my own experience. One day when | was in my 20s, | was
attending a self-improvement conference in Lancaster, Ohio, where | had a chance to
meet a lecturer. He asked me, “What’s your plan for growth?” | was young and didn’t
know | was even supposed to have a plan for growth, so | mumbled. “Eh, | don’t have
a plan.” Then, he said, “Growth is not an automatic process. If youre going to grow,
you need to do so intentionally.” Somehow, his words set a fire in my mind. That
evening, | sat down and thought about my growth plan. That was the beginning. |
took the whole year to figure out how to make a growth plan, and it changed my life.
For the past thirty years, I've been on a personal growth plan every year.

All in all, everyone wants their life to be a success. But how are you going to be
successful? Remember that highly successful people follow a careful plan to grow their
full potential. So ask yourself right away: Do | have a plan to reach my maximum
potential?
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20. $I29| 22|12 717 HHG H?
P

@ Plans for growth play an important role in gaining a success in one’s life.
@ Successful people know well about their own strengths and weaknesses.
@ Self-improvement conferences are a great place to learn about oneself.
@ Too much intention is not good to reach one’s own potential.

21. Growth planof| &t SI=2| LM YX|st= AS?
@ It outlines possible future jobs.
@ It helps reach one’s maximum potential.
@ Highly successful people no longer need it.
@ It makes growth an incidental process.

22, H29| 3ROl tiet 2= HASHR| g2 A2?

@ “I" attended the conference held in Lancaster, Ohio.

@ “I’ had a chance to talk to the lecturer in person.

@ “I” shared one’s own plan for growth with the lecturer.

@ “I’ learned about the importance of a growth plan at the conference.
(23-26)

Have you ever been into a store because of something you saw in a window? A
century ago, people took time to stop and look into store windows. Today, however,
most people look straight and walk quickly in busy urban areas. They walk in crowds of
people. Even if they want to slow down or stop to look in a window, they can’t. They
have to keep walking quickly so that they won’t be in the way of other people. That's
why window displays need to instantly grab attention. But many do not.

Therefore, store windows today must be quick reads. They must be simple enough so
that the products can be clearly identified. They must be creative enough to catch the
busy pedestrian’s eye. If done right, windows can function as an important brand
identity. My favorite windows are in France. (A) They are at a designer fashion store.
The windows tell jokes and sometimes they make me smile. The clothes are part of a
larger story. However busy | may be as | walk down the street, the windows make me
walk slowly. Even more, they almost (B) tempt me to come inside the shop and take a
good look around.

23. =0l LIEIH 2549 AHES0 tiet 2322 Hdst A2?

—

@ They spend more time to enjoy looking in the store windows.

@ They pay more attention to the online stores rather than the street stores.
@ They stop walking in order not to be in the way of other people.

@ They walk in crowds of busy people.

24. 2120 LIEfH 2E5E9| store windows2| £3210] Ot Z27?
@ quick reads
@ brand identity
@ unfocused and catchy
@ simple and creative
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25. 2= 2l (A) They?t A|&st= A2?
@ people in the past

@ busy pedestrians

@ store windows

@ my favorite windows

26, oHetAh 2= 2 (B) temptl] St 74 bR A2?
@ attract @ conceal
® appreciate @ discourage
(27-30)

It is clear that Eastern and Western cultures are different. But most of us would have
a hard time explaining where this (A) distinction comes from. We could only guess that
it comes from a different way of thinking, perhaps reflecting a contrast between
environments. The following example illustrates the difference between Eastern and
Western perspectives of the world.

Their different perspectives are reflected in the way mothers communicate with their
children. Western mothers used twice as many object labels as Asian mothers,
frequently using words such as “piggie,” and “doggie.” Asian mothers engaged in twice
as many social routines, teaching politeness norms like greetings. A Western mother
might speak like this: “That's a car. See the car? Do you like it? It's got nice wheels.”
On the other hand, an Asian mother might say: “Here! It's vroom vroom. | give it to
you. Now give this to me. Yes! Thank you.” Western children learn that the world is
mostly a place with objects, while Asian children are taught that the world is mostly
about relationships.

Categories are denoted by nouns. Relationships, on the other hand, usually involve a
verb. Therefore, verbs are more important in Asian languages than in English. The
manner in which people ask someone whether they would like more tea to drink
exemplifies this (A) distinction. In Asian languages one asks, “Drink more?” In English,
however, one asks “More tea?” To Asians, it is perfectly obvious that it is the tea that
one is talking about drinking more of, so to mention the word tea would be
unnecessary. To Westerners, it is perfectly obvious that one is talking about drinking the
tea, so it would be rather strange for the question to refer to drinking.

Asians and Westerners have used very different systems of thoughts for thousands of
years. While Asians pay more attention to the relationship between objects, ( @ )
Westerners are concerned with categorizing objects. ( @ ) The distinctive organizational
strategies are reflected in each culture. ( @ ) Understanding the difference is essential
as societies become increasingly diverse. ( @ )

*denote HEA|SICE, A|A|SICH

27. UM L= 2l (A) distinction®| S£t 7t ItE H2?

specialty ® knowledge
imagination @ difference

O]
®

28. SlZ9| FAHZ 71 AHEet A2?

@ teaching Asian children how to use a language

@ various parenting methods from different cultures

@ different perspectives possessed by Asians and \Westerners

@ social organizations developed on the basis of human relationships
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@ Asians use nouns more often than Westerners.

@ Westerners prefer to think on the basis of categories.

@ Asians focus more on categories than relationships.

@ Westerners usually ask “Drink more?” rather than “More tea?”
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Everybody says we should help those in need. However, as the proverb goes, (A)
. The following episode shows that it is not difficult to lend a helping
hand and make the world a better place.

Last month | was waiting for a bus on a rainy day. | saw an elderly woman get off
a bus. It seemed that she wanted to change buses. She walked slowly toward me.

After a while, | started a conversation with her. “We’re having very bad weather
today, aren’t we? But the bus will be here soon.” | asked her where she was headed. |
was surprised to hear her response. | said, “The bus that you got off goes there. Why
did you get off the bus? | mean, what made you get off before your stop?”

The lady smiled and answered, “Well, one young man with a bad limp got on the
bus, but no one wanted to give up their seat for him. They either looked down or
pretended they were dozing off. | wanted to offer my seat. If an old woman like me
had done that, however, the young man might have felt very uncomfortable. So, when
the man came close to me, | rang the bell to get off the bus. Thankfully, the young
man didn’t feel awkward when he took my seat. Another bus always comes along. We
can get the next one, can't we?”

1. 217 (Ao S0{E 22 71y HZEe A=2?

@ it is easier said than done

@ patience is the art of hoping
@ a rolling stone gathers no moss
@ after a storm, comes a calm
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2. 20| E2{Lt “elderly woman’e| A<= 71t

@ easygoing
® introverted

@ considerate
@ demanding

(3-4)

Many marine mammals are quite large. When an ocean-dwelling species evolves
toward a bigger size, it gains several advantages. First, it takes less energy and effort
to support a large body in the ocean (A) on land, because the pressure of
the water helps to support the body. A blue whale could never live on land, even if it
had legs — its massive body would require a skeleton so big that it would collapse
under its own weight. Second, larger animals have less surface area (skin), compared
to their overall volume (body mass), than smaller animals. A big sea-dwelling creature
finds it easier (B) __ warmth inside its body, while a small creature loses more heat
into the water through its skin.

3. 2IZE (A2t (B)ol 012 2= HIEA HR[0j A2?

(A) (B)
@ as --- to conserve
® than --- to conserve
@ than --- conserve
@ as --- conserve

4. Sl29| W& LRste A2?

@ Small sea-dwelling creatures need to be protected.

@ The marine mammal population increases because of its size.
@ Marine animals play a crucial role in marine ecosystem.

@ Marine animals benefit from their massive body.

(5-6)

Charles tried his hardest to encourage Jackson, recognizing that his brother had a
low opinion of his abilities. But Jackson resisted his help. He refused to show Charles
his paintings, and instead of hanging them up, used to turn them (A) the wall.
Equally dissatisfied with his sketches, he developed an unfortunate habit of ripping
them up. Charles would try to salvage them, collecting the scraps, placing them in a
drawer and assuring his brother that his work was worth (B) . But it was
inconceivable to Jackson that his early work might ever be of interest; he didn't even
(C) bother to sign or date his paintings.

*salvage A|7|Ct, 25Tt
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(A) (B)
@ off --- to save
@ against --- save
@ off --- having saved
@ against --- saving

6. U2HY YE I (O) bother| £ 71 It %2

—

make an effort @ make much of
give up @ qive in

(7-10)

How many times have you upgraded your computers, television sets, or mobile phones
in the last few years? Have you ever thought about where these products went after
you've used them? Any household or business item consisting of electrical components,
when not reused or recycled, is turned into e-waste. This term is used to describe many
types of electrical and electronic equipment with a battery or power supply that enter or
will enter the waste stream.

E-waste is growing simply because the markets where these products are produced and
sold are also growing rapidly. In fact, product innovations in information and
communication technologies are accelerating the increase in e-waste. Moreover, due to
economies of scale, companies have been able to produce more goods at a lower cost. As
the price of electronic items has been decreasing, the demand for (A) those products that
eventually become e-waste has been increasing. Thus, all kinds of e-waste have been
mounting up to a serious environmental problem, which still fails to attract the public
attention.

7. H29| S22 1y HAES A=2?

@ to provide a manual to keep the electronic devices up-to-date

@ to explain the meaning of e-waste and its environmental effects

@ to suggest what people can do to reduce the amounts of e-waste

@ to emphasize the importance of specific components of the electronic products.

8. E-wastelf &t =2 W8 YX|stA| Qb= A2?
@ The term refers to many types of electronic equipment that enter the waste stream.
@ Its amount has rapidly increased due to the innovations in information
technologies.
@ People pay great attention to the environmental problems caused by the e-waste.
@ If not recycled, electrical components of the business items become e-waste.

9. 2120 0|0jA g2 7tz HATH AH2?
E

xamples of advanced communication technologies in recent years
Process of how production rates affect the price of electronic devices
Reasons for why the public attention is high for the e-waste
Examples of environmental problems caused by the e-waste

O]
@
®
@
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10. Y= 2l (A) those products?t 7t2|7|= CHAR?

E
@ electronic items
@ kinds of e-waste
® product innovations
@ goods at a lower cost
(11-12)

There are many questions we can ask about the origin of the universe, @ not all of
which can be answered by science. Scientists can answer when and how the universe
began, but cannot calculate the reason why it began, for example. That type of
guestion must be explored through philosophy, religion, and other ways of thinking.
The questions that scientists ask must be testable. Scientists have provided answers to
testable @ questions that have helped us calculate the age of the universe: how distant
certain stars are, how fast they are receding from us. Whether or not we can get a
definitive answer, we can be confident in the process by which the explanations were
developed, ® allowed us to rely on the knowledge that is produced through the
process of science. Someday we may find evidence @ to help us understand why the
universe was created, but for the time being science will limit itself to the last 13.7 or
so billion years of phenomena to investigate.

*recede YO{A|C}, 2Lttt

1. 9l 29 B2 ¥ 72 & OYd =8 A2
@ @ @

12. Sl29| W& LRSHA| gl= A2?

@ Scientists can answer when the universe began.
@ Science can answer whatever philosophy cannot.
@ Scientists produce scientific knowledge through a certain process.
@ Testability is a feature of scientific questions.

(13-14)

Revision is one of the most important steps in ensuring your papers success.
Although unpracticed writers often think of revision @ as little more than making sure
all the i’'s are dotted and t's are crossed, it is much more than that. Revising is @
reseeing the essay, looking at it from other perspectives, trying always to align your
view with the one that will be held by your audience. Research indicates that we are
actually revising all the time, in every phase of the writing process, as we reread
phrases, rethink the placement of an item in an outline, or @ tests a new topic
sentence for a paragraph. Subjecting your entire hard-fought draft to cold, objective
scrutiny @ is one of the toughest activities to master, but it is absolutely necessary.
You have to ensure (A) you have said everything that needs to be said clearly
and logically. One confusing passage will deflect the readers attention (B)
where you want it to be.
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*align ~ with ... .. of &z ~& 2Yslct
x*scrutiny AL RA}, 225t
*+xdeflect YILI7tA StCt, &eFS H

(A) (B)

@ what -— to

@ that --- from

@ which --- with

@ whether --- at
(15-17)

Successful life begins with a growth plan to help you reach your maximum potential.
It's not only about knowing what you should do but also about growing in that area
to maximize and highlight the things you do well.

Let me tell you about my own experience. One day when | was in my 20s, | was
attending a self-improvement conference in Lancaster, Ohio, where | had a chance to
meet a lecturer. He asked me, “What’s your plan for growth?” | was young and didn’t
know | was even supposed to have a plan for growth, so | mumbled. “Eh, | don’t have
a plan.” Then, he said, “Growth is not an automatic process. If youre going to grow,
you need to do so intentionally.” Somehow, his words set a fire in my mind. That
evening, | sat down and thought about my growth plan. That was the beginning. |
took the whole year to figure out how to make a growth plan, and it changed my life.
For the past thirty years, I've been on a personal growth plan every year.

All in all, everyone wants their life to be a success. But how are you going to be
successful? Remember that highly successful people follow a careful plan to grow their
full potential. So ask yourself right away: Do | have a plan to reach my maximum
potential?

15. l29] 22|12 71 &% A2?
P

@ Plans for growth play an important role in gaining a success in one’s life.
@ Successful people know well about their own strengths and weaknesses.
@ Self-improvement conferences are a great place to learn about oneself.
@ Too much intention is not good to reach one’s own potential.

16. Growth plan0j| &8t =2 W& Lx|5t= A2?
@ It outlines possible future jobs.
@ It helps reach one’s maximum potential.
@ Highly successful people no longer need it.
@ It makes growth an incidental process.
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17. Sl29] aAH()of| tier B2 HH5HA| 92 A2?

@ “I" attended the conference held in Lancaster, Ohio.

@ “I” had a chance to talk to the lecturer in person.

@ “I” shared one’s own plan for growth with the lecturer.

@ “I” learned about the importance of a growth plan at the conference.
(18-20)

Have you ever been into a store because of something you saw in a window? A
century ago, people took time to stop and look into store windows. Today, however,
most people look straight and walk quickly in busy urban areas. They walk in crowds of
people. Even if they want to slow down or stop to look in a window, they can’t. They
have to keep walking quickly so that they won’t be in the way of other people. That's
why window displays need to instantly grab attention. But many do not.

Therefore, store windows today must be quick reads. They must be simple enough so
that the products can be clearly identified. They must be creative enough to catch the
busy pedestrian’s eye. If done right, windows can function as an important brand
identity. My favorite windows are in France. (A) They are at a designer fashion store.
The windows tell jokes and sometimes they make me smile. The clothes are part of a
larger story. However busy | may be as | walk down the street, the windows make me
walk slowly. Even more, they almost (B) tempt me to come inside the shop and take a
good look around.

18. 2120 LIEtH =49 store windowse| £2/0| OofLl Zde?
@ quick reads
@ brand identity

@ unfocused and catchy
@ simple and creative

19. @= 2l (A) They?t R|&st= A2?
@ people in the past
@ busy pedestrians
® store windows
@ my favorite windows
20. oHeta 2= 2 (B) tempte| St 7+ IR A2
@ attract @ conceal
@ appreciate @ discourage
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